I3Y-J

A{TMIRREES (EPD)
Z&#ES ¢ JR-AI-22079E

orother

at your side
JSH—T##xK44t / BROTHER INDUSTRIES, LTD.

SUMPORIZESAINITIS A
—BHDEAT T T IIVIREHENE
FRETRBXEEEH2-2-1
https://ecoleaf-label.jp

Hho—L——EEaH
Business Color Laser All-in-One Printer

MFC_L961 OCDN for USA

—

brother
1
—
BiEHAL ERBs JR-AI-22079E

BEXSREPE

m i%E

O hfEas

FEATRIFRIE, 4. OB, (HF - HERFEIR, BEE - UY(/) RREESG T

HmOBN, FEMLE - T
AR : MFC-L9610CDN
BRIV (h5—-EPAT)
-AAEE : 36.8kg. BF=Ath 1 5.5kg
-EBAAMYAX : A4, Letter
« Z2—=)0-G3xditx
- B gl E ENm B AE
- BHRLAN
XAEEETAHEEIFITI,
BU\WSHE %
TH-TEMAST RURZENXTCEESS
TEL: 052-824-2511 (%) FAX: 052-821-5177

https://www.brother.co.ip/

IBAPCR&ES PA-590000-AI-04

PCR% ERA L DR [BE4AR]
NS 20224128128
RIESI8E 20224108 11H

S RF LRI

REIES JV-AI-22079E

®SEB*AAE 20274108108

PCRLE1—-DEfE

REASE 202264818
RER iz EZ

(—HEHEEA D RT T T R EHEE )

B=EIREE

NEMREEE AN 5

ISO14025(CE > e ABEERUT —F DI UTAREE
OISR m 5B

*L AT LRI RITTEBEAANDIRIDBSE. R FT LB ZTD
EEEBORRIZE .

Eix&ES . JR-AI-22079E


https://www.brother.co.jp/

IaJ-J SUMPOIEIESANI OIS A

e — —BAEEAYT R T T I)UIREHERGE
&mnmn 34721 RIEES (EPD) ERBTROXEEE2-2-1
=i%&ES ¢ JR-AI-22079E https://ecoleaf-label.jo
OS5A TYA VI & lTER
0% 20% 40% 60% 80% 100%
SURZE) IPCC 2013 GWP 100a 580 |kg-CO2eq
B4l 0.33 |kg-S0O2eq
BRHE 0.027 | kg-Sbeq 6
= DEHHTE Q% NOy3:]
BDEA-HIEEE aOEE-UY L
AER B =1y a5 OREMERE QHE Qi | oEA - #ix=E| omm. vyro
SURZSH IPCC 2013 GWP 100a | kg-CO,eq | 5.8E+02 || 3.0E+02 | 3.7E+01 | 2.4E+01 | 1.5E+02 | 6.9E+01
ERMEAL kg-SO,eq | 3.3E-01 | 2.3E-01 | 5.5E-03 | 3.6E-02 | 2.9E-02 | 3.1E-02
BRHE kg-Sbeq | 2.7E-02 | 2.5E-02 | 7.0E-05 | 1.0E-04 | 2.0E-03 | 1.7E-05
@5AITYAIIA>NR> NUDREE QMBI R UE (CRAT D HEE
I5H
JEBATIREBIR 2.2E+01 kg 3 8 1.0E+01 kg
JEBATRE T RILF— 2.1E+02 kg Sus 2.8E-01 kg
BATEEER 6.6E+01 kg TILEZO A 4.1E-01 kg
BAORETR)LF— 2.1E+02 M] ZOMERE 1.1E-01 kg
SRKDHE 5.2E-01 m3 TSAFwvI 2.2E+01 kg
N 2.4E-01 kg
HSX 1.1E+00 kg
iR N 4.4E4+00 kg
HELOREMR 1.5E4+00 kg
ZAth 2.1E+00 kg




IaJ-J SUMPOIEBIESANI OIS A

o faty ey — — R EEAT T T T )UIREHEERRE
z'f TEIERL%EE (EPD) B TAORESE2-2-1
ZixEs . JR-AI-22079E https://ecoleaf-label.jo

OHERRICEY DEMHH

ERERBOEESZE (SFJA)

Jr o=V (ESRABHIE) . BEEREARE : 58, X5 : £48,0004%
BIAERER/ (5 —2>  ITUT No.1F v — b, EIRIAERSRESRE (CE AV AEmET7X U HEmET

©-1.TDMDIRIEENERH
ARBOMEIIEE EEBERD b —RUORBARIE(FISO14001 FBESH LB ICTITON TLET.

DEFERUEZRT—IDERS
IDEA v2.1.3 NMUSUMPOEBIESARILTIOT S ABREREN v1.10 BER U,

®fF%

0 —FHEEDEIE. PCREKUVERE - EEMREEZSRBRLTIIZE,
OLLE(CDWTIE. BFE - EEMRE(CHEINIERAE/IUILBSCUNRBDHENEFE A
(ZBR5EURL : https://ecoleaf-label.jp/regulation/)
Eixgs . JR-AI-22079E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

